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2N ISR
Ha: olesANY
Sl YHBS =X

Jt
>
il
o
i
2

5 - 4
S EH B (BH) - MBAY - BAS Ol At o ﬁ}lgﬁ HRE2
11T A EXAIEEX 180,000 180,000 0
O ASIZ0H SHAFS (Ol AFE2Z 10%) 180,000
UANHBEE ME L S At 208,000 165,000 43,000
201 2Et2A Y| 108,000 65,000 43,000
01 AP 2t 2] H| 90,000 45,000 45,000
Osdd HH HHYEUA = 2 (WAHEZ2 10
%) 27,000
OZRE, 58X - 2820|2 MY FYBS DF(
Ol AR 2E 10%) 18,000
OUYNHES A S22 HME(HAZEZ 10%) 45,000
03 A2 G H| 18,000 20,000 A 2,000
OUdEHS T 2L EZ23 (WA= 10%) 18,000
308 XHXIGH SO0l & 100,000 100,000 0
01 AIKSHHEMNEXZ 100,000 100,000 0
OF0 N8BS UK 100,000
A AFS EZ O &0 3,858,789 3,705,860 152,929
= 2,695,223
J| 204,550
= 959,016
S X 27,000 27,000 0
307 QI2t0| ™ 27,000 27,000 0
03 I HEHESIHIEX 27,000 27,000 0
O M EE 2N 27,000
ol x s 465,685 434,685 31,000
307 2I2t0| ™ 11,000 11,000 0
11 A EXAIEE X 11,000 11,000 0
OMLHEEH Jsdszz)d2A 11,000
308 XX EHSO|IA 454 685 423,685 31,000
01 AIKSHHEAMNEX= 454 685 423,685 31,000
OWEQEIeME 2 420,685
OXEH-gETRMNE X& 12,000
OMYLHE A2t 22,000
MYHME XNE2H 3,080,254 2,987,066 93,188
= 2,695,223
& 385,031
308 XAHXIGH SO0l & 3,080,254 2,987,066 93,188
= 2,695,223
& 385,031
01 AXHHNIMNEXS 3,080,254 2,987,066 93,188
OMEHEEH E2H 3,080,254
= 2,695,223
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CEPIET L
L oASSENY U =X BS ®Y
L oMoARS U o

- - _ L=
CED B (BH) - MBAY - BAS ﬁlgﬁ HRE2

Pl 238,114
= 238,114

307 2iz2to| A 476,228 433,660 42,568
J| 238,114
= 238,114

10 MM SAANEEHESIGHEX 476,228 433,660 42,568
Od2283 13664 2 XA 476,228
J| 238,114
o= 238,114

FEAUHN A= R (F) 6.450 6.450 0
p] 4,514
& 1,936

307 QI2t0| ™ 6,450 6,450 0
J| 4,514
& 1,936

11 Al EXAIEEX 6,450 6,450 0
OJIMZAn|ol A 2 2H| X (a2t &) 6,450
J| 4,514
== 1,936

HEZANNA ESAE 2SR (A2) 514,385 486,714 27,671
J| 434,199
= 80,186

308 XXIEHSOIA 514,385 486,714 27,671
Jl 434,199
= 80,186

01 AIXSHMENMNEX= 514,385 486,714 27,671
OJIE=ZdIol At ESAE 29XH 514,385
J| 434,199
& 80,186

AN L 2SAE SN (AZ/IS2Y) 12,000 12,000 0
J| 8,000
== 4,000

403 XX SHHS K20 & 12,000 12,000 0
J| 8,000
== 4,000

01 MHXHAMAHEBE = 12,000 12,000 0
OJAEZHNINA BESAE 2 (s 12,000
Jl 8,000
= 4,000

ZAMHOE FHNAAY SSX 26,699 0 26,699
J| 21,987
o= 4,712

308 MXISHMSOIA 26,699 0 26,699
J| 21,987
== 4,712

01 AIXSHMENEXZ 26,699 0 26,699




M 04t

=
=
X ZH - O:I/dia:-l
S = S A
jun]

el g olA el gt (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2

OZ&IHHE =HXE 2HIA 26,699
J| 21,987
= 4,712

HEZHAYPALE SAA BEFUS(T) 1,440 1,440 0
J| 720
= 720

307 2I2t0| & 1,440 1,440 0
J| 720
& 720

11T A EXAIEEX 1,440 1,440 0
O ZH2UEANE SALN ExD=S 1,440
J| 720
& 720

HAEAZAZUAANLE SAK EXWE(AZ) 18,000 18,000 0
J| 12,000
= 6,000

308 XX SHHSOIH 18,000 18,000 0]
J| 12,000
o= 6,000

01 AIXSHMENEXZ 18,000 18,000 0
OEZHUHEAE SALN ExD= 18,000
J| 12,000
= 6,000

IR ZHTHA X322 )HR2Y 121,429 121,428 1
J| 100,000
= 21,429

308 XHXIGH SO0l & 121,429 121,428 1
J| 100,000
= 21,429

01 AIKSHHEMNEXZ 121,429 121,428 1
OJJEZHEIol A XS )d2H 121,429
J| 100,000
o= 21,429

HAE2283 13664IE 2K DNsELY) 14,000 8,000 6,000
J| 7,000
= 7,000

402 12t X0l ™ 14,000 8,000 6,000
J| 7,000
& 7,000

02 X2 A E X (0| THS) 14,000 8,000 6,000
Od2Z283 136648 H 2EXHA 14,000
J| 7,000
& 7,000

JIIEZEIIH A BAEXNSEZEH 24 86,737 86,737 0
J| 71,431
o= 15,306




SN IS
HE: GlHSENY U =X HE N
Sl OHoIARE U o (S &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
308 X EHSOIA 86,737 86,737 0
9] 71,431
< 15,306
01 HIXNHHBHNEELES 86,737 86,737 0
ONF=EIIohA nINzZ20d 29 86,737
J| 71,431
< 15,306
AZIi A DN EZZONY 29 49,980 49,980 0
J| 41,160
< 8,820
308 XXM SO A 49,980 49,980 0
J| 41,160
< 8,820
01 AXHHBILEES 49,980 49,980 0
Od=Z4Joi At nEFXNs2208 29 49,980
J| 41,160
< 8,820
SEAIFEY ML 29 X2 810,908 918,914 108,006
| 540,605
< 270,303
308 XtXIEHH SOl A 810,908 918,914 108,006
J| 540,605
< 270,303
01 HXNHHNBHEELS 810,908 918,914 A 108,006
Ogd=84dEg42d 500,007
J| 333,338
< 166,669
OE=Egadga2dY 310,901
J| 207,267
< 103,634
SEZYIHNESAE 2SN 188,689 192,100 A3,411
J| 157,501
= 31,188
308 XtXIEHHSOIA 188,689 192,100 A3,411
J| 157,501
< 31,188
01 AXHHILEXS 188,689 192,100 A3,411
OdZHIIoIN BESAE2G(2Z4l) 176,729
J| 145,541
< 31,188
Od=dIloi At ESAIE 2L (HI==4HHl) 11,960
J| 11,960
aibtetdldlEe 2 X2 349,016 358,000 A 8,984
J| 244,311
< 104,705
307 21201 A 349,016 358,000 A 8,984




A HHIIISEMH 2
HE: GlHSENY U =X HE N
Sl HEEE U oY (B9 ®R)
x 5 - 4
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
p) 244,311
& 104,705
10 MM SAANEEHESIHEX 349,016 358,000 A 8,984
OodlbtetIIdE 29X (2EH|, 2UHI) 349,016
J| 244 311
= 104,705
HESIHA o 2H|,2t98Hl KK (Z) 81,857 86, 160 A4 ,303
J| 57,300
=} 24 557
307 QI2t0| & 81,857 86, 160 A4 303
J| 57,300
=} 24 557
11 A EXAIEEX 81,857 86, 160 N4 ,303
OS8Z0|ol A 2 2HI XK (g dtetd| &g ) 79,000
J| 55,300
= 23,700
Od=Z= 0o A 2HHEHI X (o gt & E) 2,857
J| 2,000
o= 857
SZT R 2,28 NS (AZBY) 12,886 18,700 ~5,814
J| 10,612
&< 2,274
308 MXISHHMSOIA 12,886 18,700 N5,814
J| 10,612
= 2,274
01 HXHHIMNEXS 12,886 18,700 N5,814
OSd=Z0|ol A 2 2HI X (Al2) 12,886
J| 10,612
= 2,274
HEANNN Y24, SSHE, 2HHS X8 400 1,500 A1,100
Dl 400
307 2Iz2t0| & 400 1,500 A 1,100
J| 400
11 A EXAIEE X 400 1,500 A 1,100
OdZaToH A S2H XK (aldetI|ME) 400
J| 400
SEATHI N2 J=2T20 68,486 73,100 A4,614
J| 56,400
= 12,086
308 XX GH SO0l & 68,486 73,100 N4, 614
J| 56,400
= 12,086
01 AIKSHHEMNEXZ 68,486 73,100 N4, 614
OdZdT|oiA X2z 68,486
J| 56,400
= 12,086




SN IS
HE: GlHSENY U =X HE N
Sl OHoIARE U o (S &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
oibtetdldle, dZH Ok ESAIE JIsE223H X 6,000 7,500 A 1,500
2
J| 4,000
< 2,000
403 Ut S E X201 & 6,000 7,500 A 1,500
J| 4,000
< 2,000
01 X SHHAN2Ex 6,000 7,500 A 1,500
OdZHIUNNESAE AIEIIsE2HI 6,000
J| 4,000
< 2,000
OlSHEAEXAAURE () 7,000 8,000 A 1,000
2 3,500
< 3,500
307 21201 A 7,000 8,000 A 1,000
= 3,500
< 3,500
11 ALS S XALEE = 7,000 8,000 A 1,000
OOSHEAENSIAURE(Z) 7,000
= 3,500
< 3,500
OlSHEAEXAAURG (M2 Z4) 78,750 90,000 A 11,250
= 52,500
< 26,250
308 XX EHH SOl 78,750 90,000 A 11,250
= 52,500
= 26,250
01 IXNHHBNEES 78,750 90,000 A 11,250
OOSHAEAEMRNSAAUR2E (AlZ) 78,750
= 52,500
< 26,250
OFMEZZ N2 (L) 28,760 40,000 A 11,240
= 14,380
< 14,380
307 21201 A 28,760 40,000 A 11,240
= 14,380
< 14,380
11T M3 SXAISEEX 28,760 40,000 A 11,240
OogtdEZ2a2dY 28,760
= 14,380
< 14,380
OtsHM XIS M2 XI& 27,450 46,125 A 18,675
= 18,300
< 9,150
308 A EHHSOIA 27,450 46,125 A 18,675
= 18,300




SN IS
HE: GlHSENY U =X HE N
Sl MoIAEE U oY CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 9,150
01 IXNHHBNEES 27,450 46,125 A 18,675
O™ XIE M & X & 27,450
= 18,300
< 9,150
ES AL BSALA 148 FIOHXA 118,560 44,160 74,400
307 21201 A 57,600 16,800 40,800
11T M3 SRASEEX 57,600 16,800 40,800
OZAZHAE SAX 22l FHXNA(L) 57,600
308 A EHHSOIA 60,960 27,360 33,600
01 HIXNHHNBHELS 60,960 27,360 33,600
ZUZHEANLE BAL AAHH FIOHXE (AlZ) 60,960
SOHOHIIGH At XA & &g 29 298,022 383,646 A 85,624
J| 227,414
< 70,608
308 XXM SO A 298,022 383,646 A 85,624
J| 227,414
< 70,608
01 IXNHHBNEES 298,022 383,646 A 85,624
OSOHOHIIGH A RIZEAIE & &L 29 298,022
J| 227,414
< 70,608
SOHOHIIGH A R EXE ALY 26,715 42,500 A 15,785
J| 22,000
= 4,715
308 XtXIEHHSOIA 26,715 42,500 A 15,785
J| 22,000
< 4,715
01 HXNHHNBHELS 26,715 42,500 N 15,785
O&OHOHIIoH At 2 = XI& ALY 26,715
J| 22,000
< 4,715
SOHOHOGHA X322 Js2d 147,157 151,387 A 4,230
Jl| 98,105
< 49,052
403 HXSHHSA=0l& 147,157 151,387 A4,230
J| 98,105
< 49,052
01 HXSHMA2E X 147,157 151,387 N 4,230
OSOHOHIIGH A XI&D|2 JlsE22 147,157
J| 98,105
< 49,052
ZETH 0lF04 B3AE 2GXA(&H) 128,134 125,265 2,869
J| 105,522




SN IS
B oSN U =X BS MY
el ClHUAEE U oY (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
< 22,612
308 XXM SO A 128,134 125,265 2,869
J| 105,522
< 22,612
01 IXNHHBNEES 128,134 125,265 2,869
O=gIUlal 004 ESAE 2L (&H) 128,134
J| 105,522
< 22,612
Za0lol 0IF0S BES5AE SENA(AEE) 46,793 51,000 A4, 207
J| 38,535
< 8,258
308 XtXIEHH SOl A 46,793 51,000 A4, 207
J| 38,535
< 8,258
01 AXHHBIYEES 46,793 51,000 A4,207
O=ZdIdl 0l=04 EsAE 2L(08E) 46,793
J| 38,535
= 8,258
Zd0oiolF=04 22 XA FIH(AEE) 1,700 0 1,700
308 MXIEHSOIH 1,700 0 1,700
01 HXNHHBHELS 1,700 0 1,700
OFZmaiol=0ld 2LXE FIH(AEE) 1,700
Ol ZEF0Yus(XHA) 60,000 60,000 0
308 XX EHHSOIA 60,000 60,000 0
01 HIXNHHBNEES 60,000 60,000 0
Ootits ZHuL = (XHA) 60,000
ROt &4=d0egdns X9 XNE 249 66,700 64,938 1,762
= 33,350
< 33,350
307 21201 A 66,700 64,938 1,762
= 33,350
< 33,350
11T MISAASEX 66,700 64,938 1,762
OO0t 4=Z80gdus N9 NE 29 66,700
= 33,350
< 33,350
0 OtsEAYE dold W= 40,000 20,000 20,000
= 40,000
307 21201 A 40,000 20,000 20,000
= 40,000
11T AL S XA E = 40,000 20,000 20,000
OFMHOtsEAYE & AANE AZTAEH2HE 40,000
= 40,000




SN IS
B oSN U =X BS MY
el ClHUAEE U oY (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
SHUAMe &4 HANE AMZAEH2A 29,000 37,800 A 8,800
= 14,500
< 14,500
307 gl2tol & 29,000 37,800 A 8,800
= 14,500
< 14,500
11T AIS S RAEE = 29,000 37,800 A 8,800
StNAMS & A= 29,000
= 14,500
< 14,500
Se0lE04 delXls 220 29 23,000 20,000 3,000
J| 23,000
308 XXM SO0 A 23,000 20,000 3,000
J| 23,000
01 IXNHHBNEES 23,000 20,000 3,000
SHOIE0E AeXsEz N 29 23,000
J| 23,000
ROt &8 2 delxls Adla K& 18,000 0 18,000
307 21201 A 18,000 0 18,000
11T MISAASEX 18,000 0 18,000
Oz0le Ad 2 Aelxlag MulA X (E2)(
Ol &HEZE 10% 18,000
Cherst D=0 e X2 18,007,125 16,353,209 1,653,916
= 4,919,634
J| 8,442,833
< 4,644,658
SHREIINEXJA 970,365 967,345 3,020
308 XXM SO A 970,365 967,345 3,020
01 IXNHHBNEES 970,365 967,345 3,020
OS2 2IE HHRsH XA 176,865
OstR2IIE MEtFEIA 757,500
OMUzsZa gL+l 36,000
ALNEFXNALAEH 2L XA 50,544 47,000 3,544
307 21201 A 27,000 27,000 0
11T MI=SRAIEE 27,000 27,000 0
Oo2g H=E=HM(MAEZ 10%) 27,000
308 A EHHSOIA 23,544 20,000 3,544
01 HXNHHBHELS 23,544 20,000 3,544
OAH2INFXNAEEH SAR MRMLH| 23,544
Ct23tots A=t RIIALY 705,000 450,000 255,000
308 XXM SO0l A 705,000 420,000 285,000




S HAIIEED

B GlAEENE L =N EE B
S Chst Jt=0 et X (&)
SA - BB B () - MM - BES Ol &t o San HmEET
01 HIXNHHNBHNEES 705,000 420,000 285,000
Ot MY 490,000
OHEANCUEZNEXNLAHE X XA 150,000
O#=IHRIIAY 15,000
OLRSAME 29 (22E oE) 10,000
OCU2IIFHEH 23 & JIsESAY 15,000
Ot=zst I =235 A Y 15,000
OUZaitd 22 E2HE 29 10,000
SHRR2IIE SXAIE X 334,636 317,956 16,680
308 XX EHSOIA 334,636 317,956 16,680
01 HXNHHNBNEELES 334,636 317,956 16,680
ORZIIE=INANE 29 302,420
OstREEINESXNAE SAA HRMAH| 9,816
OSRL2INFSNAE E2T NHEEES 9,600
OstREEIESXNAE AHEssE X2 12,800
SHRE2IIEXH 2=|H & X 4,313,250 4,167,000 146,250
J| 3,834,000
< 479,250
308 XtXIEHH SOl A 4,313,250 4,167,000 146,250
J| 3,834,000
< 479,250
01 HXNHHNBHEELS 4,313,250 4,167,000 146,250
OS2It HHY=H s A& 4,313,250
J| 3,834,000
< 479,250
dAdEet282 THEX& 96,788 78,260 18,528
J| 89,000
< 7,788
308 XX EHSOIA 96,788 78,260 18,528
Jl 89,000
< 7,788
01 HIXNHHBNEES 96,788 78,260 18,528
O&FAaY 822 NHEXA 96,788
J| 89,000
< 7,788
HAYE DIEIREXN HEI2 2 32,500 34,450 A 1,950
J| 25,000
< 7,500
308 XtXIEHH SO0l A 32,500 34,450 A 1,950
J| 25,000
< 7,500
01 AXHHBIYEES 32,500 34,450 A 1,950
Oddg NIE2RX HEII2 =29 32,500




SN S
=]

M GldsENY U =X BE N
Cterst Jh=0l et XT3 (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
Jl 25,000
=) 7,500
022,822 MelEAXE 12,000 0 12,000
308 AHAIEHHSOIA 12,000 0 12,000
01 HXNHHBHELS 12,000 0 12,000
Ollel, R2HCIEMANE a2z 0™ 12,000
ANE g4aX dExlzs X 22,631 24,375 NT1,744
J| 17,409
< 5,222
308 XXM SO0l A 22,631 24,375 NT1,744
J| 17,409
< 5,222
01 AXHHBLEES 22,631 24,375 AN1,744
OStRZIIESINAE YaX dEXE 22,631
J| 17,409
< 5,222
SSHEIFE (YY) FAHAXHA 39,600 54,800 A 15,200
J| 39,600
308 XX EHH SOl A 39,600 54,800 A 15,200
J| 39,600
01 AXHHILEES 39,600 54,800 A 15,200
OstREIIE Y= FAHXA 39,600
J| 39,600
22018 o URansXddH 22 (%) 36,625 2,444,485 A 2,407,860
J| 18,312
< 18,313
307 21201 & 36,625 36,640 A15
J| 18,312
< 18,313
11T M SRASEEX 36,625 36,640 A 15
OESEUIIINESNANELEH 2SN 36,625
J| 18,312
=) 18,313
AU L GRSNSNAME 2% (A2) 2,667,707 0 2,667,707
J| 2,139,744
< 527,963
308 XXM SOl A 2,667,707 0 2,667,707
J| 2,139,744
& 527,963
01 AXHHBLEES 2,667,707 0 2,667,707
OHZIEXNAEEH 2EXE 441,000
J| 339,200
< 101,800
OxdId 9 LIS NEXNJAHH 29 1,572,056
J| 1,296,966




2N

FM: HdsdEig & =X g3 AN
S Chst Jt=0 et X (&)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
== 275,090
OUIeIEXNJAEH 2F XA 654,651
| 503,578
< 151,073
HAZE & UR3ESXNJHE SAX HSLIHAH 50,256 21,620 28,636
X
307 gl2tol & 5,040 1,620 3,420
11 ALS S RAEE = 5,040 1,620 3,420
OsY UESSINSAIANEHEH SAK MM
«Hl 5,040
308 XX EHH SOl A 45,216 20,000 25,216
01 AXSHBLELS 45,216 20,000 25,216
OUZsINFANAAEEH SAX HLR2M &I 45,216
INEAS2A X2 309,361 248,313 61,048
= 237,970
< 71,391
308 XXM SO0IA 309,361 248,313 61,048
= 237,970
= 71,391
01 IXNSHHBNEES 309,361 248,313 61,048
ONESQ LS NAAL (FLRADINNEKH) 309,361
= 237,970
< 71,391
OtolSs A& 5,237,321 4,482,120 755,201
= 4,640,664
< 596,657
308 XXIEHHSOIA 5,237,321 4,482,120 755,201
= 4,640,664
< 596,657
01 AXNHHNBAMNEES 5,237,321 4,482,120 755,201
OootolssX& 5,237,321
= 4,640,664
< 596,657
Ss=s0tUsH 2¢ 284,400 158,000 126,400
J| 252,000
< 32,400
308 XXM SO0 A 284,400 158,000 126,400
J| 252,000
< 32,400
01 AXSHBLEES 284,400 158,000 126,400
Oz=ss0tLUsH 29 284,400
| 252,000
< 32,400
S=sS0tUsH XX 85,000 10,000 75,000




SN IS
M olMsANY U =X BS M
S9l: CHYE It e X8 CER-ED
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
403 UHXSHHSA=0l& 85,000 10,000 75,000
01 X SHMA2E X 85,000 10,000 75,000
O3s=s0tl=sH XX 85,000
AL 53,300 126,000 AT2,700
= 41,000
< 12,300
308 XXM SOIA 53,300 0 53,300
= 41,000
< 12,300
01 AXHHBISEES 53,300 0 53,300
OsdE=EEEAY 53,300
= 41,000
< 12,300
fRggdd= 10,000 0 10,000
307 21201 A 10,000 0 10,000
11T M3 SXAISEEX 10,000 0 10,000
ORsgdad= 10,000
Z20/2X S8 MblA X& 333,582 294,070 39,512
J| 295,579
= 38,003
308 AHAIEHHSOIA 333,582 294,070 39,512
J| 295,579
< 38,003
01 HXNHHNBHNEELS 333,582 294,070 39,512
OZE0I2X S8HY HHA XA 333,582
J| 295,579
< 38,003
CE3otsE g e X2 424,266 441,232 A 16,966
J| 375,932
< 48,334
308 XXM SOIA 424,266 441,232 A 16,966
J| 375,932
< 48,334
01 AXHHBILEES 424,266 441,232 A 16,966
OUI&itE g d X 424,266
J| 375,932
< 48,334
oo Jts838 24 210,507 149,077 61,430
J| 186,525
< 23,982
308 XtXIEHH SOl A 210,507 149,077 61,430
J| 186,525
= 23,982
01 HXNHHBHELS 210,507 149,077 61,430




2N HEEHE

FM: Hds"deg ¢ g d
Cterst Jh=0l et XT3 ool E )
SN FE-SA(EA) - HRAY - il HlnE2
ool=Ee Js83d =4 210,507
| 186,525
< 23,982
AELE @ NJUHME 5 $RUSAHHA T3 954,162 997,771 A 43,609
| 845,460
= 108,702
308 XXM SOIA 954,162 997,771 A 43,609
| 845,460
< 108,702
01 IXNHHBANEES 954,162 997,771 A 43,609
Ooltdgs & NJHME S5 Y2 USAHEAXZ 954,162
| 845,460
< 108,702
ChEZstot= Atell&tel A& 103,344 112,575 29,231
J| 91,571
= 11,773
308 XX EHHSOIA 103,344 112,575 A9,231
| 91,571
< 11,773
01 AXSGHBLELS 103,344 112,575 29,231
OC23ItE Atell 22l X& 103,344
| 91,571
< 11,773
st=a0ns 22 262,620 262,620 0
| 232,701
< 29,919
308 XXM S0l A 262,620 262,620 0
| 232,701
< 29,919
01 IXNHHBHNEES 262,620 262,620 0
Ogt=0lus 24 262,620
J| 232,701
< 29,919
Y AIUF0 A SE XA 344,000 250,000 94,000
201 Let2d] 10,000 0 10,000
01 At 22l 5,000 0 5,000
OSEAIUFCHERN A2 S 5,000
03 A2 Z Hl 5,000 0 5,000
OFEA=Z=CUHERS 7L 5,000
308 XXIEtH S0l A 334,000 250,000 84,000
01 XS &S 334,000 250,000 84,000
Osd =0l 334,000
AL NE GEsIHEX 63,360 0 63,360
2




SM: HEIEEHE
B o452y U =X BE
Ee s CHst IS st K& (2 &HH)
(o
SA - "B E (3 H) - B A %@i HD=2
307 2Iz2to| & 4,800 0 4,800
11T AISIEXAIEEX 4,800 0 4,800
OsY UR3IE X
(%) 4,800
308 AHXIEHSOIA 58,560 0 58,560
01 AIXSHMEMNEX= 58,560 0 58,560
OHAUINE USSI=EXNKMLE SALX
IS (AlIZ) 58,560
CesIIdeds & NEs 631,000 463,000 168,000
A 100,000
o= 531,000
|23t E 45 631,000 463,000 168,000
A 100,000
=} 531,000
St E MolE &at 523,000 363,000 160,000
A 100,000
= 423,000
307 2I2t0| & 523,000 363,000 160,000
A 100,000
= 423,000
04 CIZ2tSHALALS B X 13,000 13,000 0
Osd U23I=E 13,000
11T AISIEXAIEEX 510,000 350,000 160,000
OUE3IIE 43 410,000
OUE3sIE etd 1w 100,000
N 100,000
Ct2StE AT L oA 108,000 100,000 8,000
307 212t0| & 108,000 100,000 8,000
02 DIZFEAAIRE E X 108,000 100,000 8,000
OUSsyHAR Y
2 10%) 108,000
HAHE B 2 4 ,552,688 11,558,642 994,046
= 651,576
Xl 2,211,000
J| 5,000,371
= 4,689,741
HAE Aabjg2g) 6,763,872 6,209,324 554,548
= 515,076
Xl 2,211,000
J| 407,342
o ,630,454
HAaE2dH QA3 2 30,000 27,000 3,000
201 et | 30,000 27,000 3,000




SN HENEZ B
N EH - X AL
L= B (=}

S FAY AgeL s (SH9: &)
- _ _ RE]
SA BB (3H) - NRAY - B Ol &F o4 %@i HRE2
01 AP 22| H| 30,000 27,000 3,000
OstNZAYHIAAK/S S &4 30,000
HaE gats OF2t00l 29 1,368,342 1,207,010 161,332
J| 1,368,342
308 XAXIGHHSO0|& 1,368,342 1,207,010 161,332
J| 1,368,342
01 HXHHIMNEXS 1,368,342 1,207,010 161,332
O3A4d gt s o240l 29 XN 1,368,342
J| 1,368,342
HAE 2E OF2HAI0l SAK HRMHA 12,384 13,824 AN 1,440
308 XX SHHSOIA 12,384 13,824 AN 1,440
01 X HHIMNEEXTZ 12,384 13,824 AN 1,440
OFAE &= 0F2IAI0l SAX XS0 AH| 12,384
HAGXNER 29 1,174,000 790,000 384,000
306 23 1,174,000 790,000 384,000
0132 1,174,000 790,000 384,000
O(M)EEYE HAHKNER 2H 1,174,000
Had 2o MM 29 68,000 68,000 0]
307 2izto| A 68,000 68,000 0
11T AISIEXAIEEX 68,000 68,000 0
OFAE FHUMM &9 18,000
OFAE FTHUAMM HHAIE =& 50,000
HAadE - HEE2gs A 435,600 327,470 108, 130
307 2Iz2t0| & 385,600 277,470 108, 130
11T A EXAIEEX 385,600 277,470 108, 130
OFAadEs IE3Eee & Z2HUE =8 188,000
OFA~"gs NEAUSE HxE XS 12,600
OFAEENI? EFHUSE HE X 23,000
OFAE 2 Sgns =& 27,000
Oz=2=d ¥« 2= g8 8,000
OFAES & JESA =& 54,000
OAINKRE'22|= oL 23,400
OZAINRE'R22|= ofLtH! 18,000
OFALHE 3AYE HAHE NS G T2
HE M2Hst grat, 9,000
OFAYE LictAIe 2T 29 12,600
OFAHE = HE S4 ot2td o) 10,000
308 XAHXIGHH SO0l & 50,000 50,000 0
01 IXHHIMNEXS 50,000 50,000 0
OFAYE Hatel GAIHEHE 50,000




SN HENEZ B
N EH - X AL
L= B (=}

el Bad

SN - EAEA) - MRAL

01
o

Off &t 24

=

M
2
==
£l
Ol
0y

FAE 220" NA(%) 70,500 70,000 500
28,500
42,000

o

307 21201 & 70,500 70,000 500
28,500
42,000

M

AR S XA 2
Ot

ES 70,500 70,000 500
OUWEN=E0tE

70,500

28,500
42,000

(11

(=
[ B

A

0
b
i
=)
o
o
=
on
=
o
=
A
oy
0z

144,000 156,800 A 12,800

57,600
86,400

oy

308 NHXIEHMSO0IE 144,000 156,800 A 12,800

57,600
86,400

oW

01 XM BAEES 144,000 156,800 A 12,800
OAlZ (SEig 29 144,000
57,600

Mo

86,400
A8 Sotel X 48,500 36,500 12,000
48,500

02

H

308 MtXIEHMSOIH 48,500 36,500 12,000
48,500

W

01 AXHHBAEES 48,500 36,500 12,000
O&Ead sotel 2EX& 48,500
48,500

H

A4

02

EN

M
L]
2
M
4
H0
02
H

10,000 10,000 0

Jl 5,000
5,000

N

307 21201 & 10,000 10,000 0

Jl 5,000
5,000

H

A S XA E X 10,000 10,000 0

O a4 AR 29 10,000
Il 5,000
5,000

N

N Had HAIIFP 2 (A22 4 21,000 21,000 0
Il 21,000

308 AHXIEHHMSO0IE 21,000 21,000 0
Il 21,000

= 21,000 21,000 0
OAN= 344 WA 2& X 21,000

Jl 21,000




SN HENEZ B
N EH - X AL
L= B (=}

S FAY AgeL s (&)
SA - BB B () - MM - BES Ol &t o San HmEET
A Had #0017 2 (= AE) 25,000 25,000 0

J| 13,000
< 12,000
308 AHAIEHHSOIA 25,000 25,000 0
J| 13,000
< 12,000
01 AXSHBLEELS 25,000 25,000 0
OFAYE AL 2IAJ3 435 25,000
J| 13,000
< 12,000
ALYEAEHESHELH Jls 23t 620,100 612,000 8,100
= 186,030
< 434,070
307 glz2+0l & 620,100 612,000 8,100
= 186,030
< 434,070
1A =SXIAMEE X 620,100 612,000 8,100
OFAHESIUELH 29 & AEHXA 620,100
= 186,030
< 434,070
dad el 24 Z2RE 2 246,000 144,000 102,000
307 21201 A 246,000 144,000 102,000
A= XA 2 = 246,000 144,000 102,000
O&FAGEeHYE ZZHE ALY 246,000
AU EHAE 2 194,446 168,720 25,726
= 194,446
308 A EHHSOIA 194,446 168,720 25,726
= 194,446
01 HXNHHNBMNELS 194,446 168,720 25,726
O=38A2HSEANE Z208 29 8,500
= 8,500
OFAEF=EHANEXNEZ A BRI X3 AL 185,946
= 185,946
FAaEEHALE A 2,211,000 2,457,000 A 246,000
X 2,211,000
403 A X EHHS =0l A 2,211,000 2,457,000 A 246,000
Xl 2,211,000
01 X HHMA=ZLE L 2,211,000 2,457,000 A 246,000
OFAGUSHAL AY SAMY =& 2,211,000
Xl 2,211,000
HFiod 2BAL A-¥OIsEY) 85,000 75,000 10,000
403 UHXSHHSA=0l& 85,000 75,000 10,000
01 HXSHMA2E X 85,000 75,000 10,000

_20_




2N

MM HAE W5 W 4
R HAYd AakjeAast (2 &HH)
5 - 4
SA BB (3H) - NRAY - B Ol At o %E& HRE2
OZ22FA EALAEHSSHH JIsE2S 20,000
OHFCHA HEAELHEZ JIsE2 25,000
OHOAl EHZA AU LHD JsE2Y 40,000
HAUE JEXE € 25 5,788,816 5,349,318 439,498
2 136,500
J| 3,593,029
= 2,059,287
A 2AE XA 994,408 933,850 60,558
307 2iz2to| A 791,000 735,850 55,150
11T AISIEXAIEEX 791,000 735,850 55,150
OF HAH MEHEIXHE ALY =& 414,000
OFEAYE Al AC|E QQAMXE ALY =X 87,000
Ok & g9 HAUXKAHEH A= 50,000
Ost % HA4E NZANAME MNERSF 29 200,000
OoHu - AQIEE 55 AT 29 40,000
308 XAXISHHMSO0lI& 203,408 198,000 5,408
01 IXHHNIMNEXS 203,408 198,000 5,408
OAZ Ea43d ME=ESIHE AIYE =& 90,000
OANZ 44 MEYEXHE SAHL HKM&H] 33,408
OAlZ &1 S HAEXKAEH AFY =& 80,000
HadaEy &9 A 640,365 640,379 N 14
J| 640,365
308 MXISHMSOIA 640,365 640,379 N 14
J| 640,365
01 HXHHIMNEEXTZ 640,365 640,379 A 14
OFA~4dE & 29 640,365
J| 640,365
HAUEEH SAAL HRHM 42,192 75,550 N 33,358
308 XAHXIEHM SO A 42,192 45,550 N 3,358
01 AIXSHMENMNEX= 42,192 45 550 N 3,358
OFA4E &H 02 && M oEdl X 30,864
O3A~4E & SAAN MM Ad K& 11,328
XAS HAESSBUAHMA 25 (E) 383,000 373,900 9,100
J| 191,500
= 191,500
307 QI2t0| ™ 383,000 373,900 9,100
J| 191,500
=} 191,500
11 A EXAIEEX 383,000 373,900 9,100
Ok #AYE SESXNEAAH 2= 383,000
J| 191,500
& 191,500




S M EE

HE: HAd 25 2

chelr EAaE TEXd & B2 (=& J)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
NAME HAHSESXNMHA S (AZZ A 692,250 657,525 34,725
| 692,250

308 XXX SO0 A 692,250 657,525 34,725
J| 692,250

01 AXSHBAELS 692,250 657,525 34,725
OANzZ 344 SEXNZMA 2= 692,250
| 692,250

HAUSEX T2 29(%) 87,710 118,092 A 30,382
| 43,855
< 43,855

307 2Iz2t0l A 87,710 118,092 A 30,382
| 43,855
< 43,855

11T AISISAAISEE X 87,710 118,092 A 30,382
Ok E449 S8 Z20d8 29 87,710
J| 43,855
< 43,855

HAESEIA T2 2 (Alz2F ) 572,960 479,248 93,712
| 286,480
< 286,480

308 KXIEH SO0l A 572,960 479,248 93,712
| 286,480
< 286,480

01 AXNSHHEBAMNEES 572,960 479,248 93,712
OAlZ a4 s Z208 293 572,960
| 286,480
< 286,480

MEXH, AAXY S BAW SEX 102,200 105,000 ~2,800
| 102,200

308 XXM S0 A 102,200 105,000 A 2,800
| 102,200

01 AXSGHBLAEES 102,200 105,000 A 2,800
OANZ #44d SEEXE MY FH 102,200
| 102,200

st o8 HAE XA(T) 228,690 215,940 12,750
| 160,100
< 68,590

307 2I2t0l A 228,690 215,940 12,750
| 160,100
< 68,590

11T AISI S XA E X 228,690 215,940 12,750
Ok st & #4d X2 228,690
J| 160,100
< 68,590

- 22 -




SN HENEZ B

HE: HAd 25 2

? FAad NEXE € BES (=& J)
SA - BB B () - MM - BES Ol &t o San HmEET
st gt AW XB(ANZEY) 945,200 808,500 136,700
J| 945,200

308 AHAIEHHSOIA 945,200 808,500 136,700
J| 945,200

01 HXNHHBHELS 945,200 808,500 136,700
OAlZ & % #4248 & 945,200
J| 945,200

StuES fgZ208 29(%) 58,314 53,414 4,900
J| 58,314

307 glz2tol & 58,314 53,414 4,900
J| 58,314

11T MIZSXASEEX 58,314 53,414 4,900
O gu=Ed (g8 23 58,314
J| 58,314

ANz stn=E fegZ20d 2 (AlF) 250,663 223,200 27,463
J| 250,663

308 XtXIEHH SOl A 250,663 223,200 27,463
J| 250,663

01 X HHILEES 250,663 223,200 27,463
OAlZ snZ3 gz 29 250,663
J| 250,663

FidostZd2Ae 25 N2 (%) 71,500 71,500 0

101 @124 dl 31,000 31,000 0

04 JIZHHZ2Z2XNESE S+ 31,000 31,000 0
OFAEURHESZZAGT H2AHAXA 31,000

307 i+l & 40,500 40,500 0

11T MIZSXAISEX 40,500 40,500 0
OFAdRMSIZANE SEXA 40,500

HAUSHSALNG B2 N(ANZIH) 20,000 22,000 A2,000
= 20,000

308 XXM SOIA 20,000 22,000 A 2,000
= 20,000

01 XML EES 20,000 22,000 A 2,000
ORdisdZAEt 28 N& 20,000
= 20,000

HAHRMSIEZAE 85 N2 (EAS) 9,000 10,000 A 1,000
= 4,500
< 4,500

307 gl2tol & 9,000 10,000 A 1,000
= 4,500
< 4,500

11T M SXAISE EX 9,000 10,000 A 1,000

_23_




2N

MM Mid D5 2 R4
? FAad NEXE € BES (&)
5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OFAEIRNSIZAYE 2AE X 9,000
= 4,500
< 4,500
HAHL2sHH 28 (2) 444,204 452,220 A 8,016
J| 222,102
= 222,102
307 21201 A 444,204 452,220 A8,016
J| 222,102
< 222,102
10 ALSISEXAIEEE2EHEX 444,204 452,220 A 8,016
OHELAUHESEH 23 444,204
J| 222,102
< 222,102
dAEAEZodH Jls 22 & Xz 68,160 109,000 A40,840
307 21201 A 68,160 109,000 240,840
11T AL SXAEE = 68,160 109,000 A40,840
OFA2U4LEadH 2Xg XA 68,160
HFAEALXE 168,000 0 168,000
= 112,000
S 56,000
308 XX EHHSOIA 168,000 0 168,000
= 112,000
< 56,000
01 HIXNHHNBNEES 168,000 0 168,000
ONMASE HHdE8ad AMES & 168,000
= 112,000
= 56,000
FAaddEH JIs B2 10,000 0 10,000
403 MRS E X201 E 10,000 0 10,000
01 XM A=2EE 10,000 0 10,000
Osdz F2ddgH JIsEd 10,000
HE2AIH (HLIIEZ ) 95,085 88,272 6,813
Jl2du(HdItsd 2 2) 95,085 88,272 6,813
Jl2dul(gi=3ma) 95,085 88,272 6,813
201 Let24E] 42,750 39,600 3,150
01 At 22l 42,750 39,600 3,150
Oogi=ds 2 Fa (WA= 10%) 42,750
202 o4l 42,075 38,412 3,663
01 = LH 4 Hi 42,075 38,412 3,663
OEN=EZ& J2FA(MAE2Z 10%) 42,075
203 R =&t 10,260 10,260 0

_24_
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